
1) A number is chosen at random from 1 
to 50. Find the probability of selecting 
factors of 13 and 11.

Answer: ____________

2) b

a o c
Measure angle boa

Answer: ____________

3) 6/77 of 154

Answer: ____________

4) $430.00 earning 8% compound 
interest for 3 years.

Answer: ____________

5) 42 x 100

Answer: ____________

6) 870 ÷ 29

Answer: ____________

7) Decrease 48 by 5/24

Answer: ____________

8) 19/3 - 12/9

Answer: ____________

9) 95/17 x 78/9

Answer: ____________

10) Factorise d2 + 7d + 10

Answer: ____________

11)
Find the next three numbers in 
the sequence
45,36,54,45,63,54,72__,__,__

Answer: ____________

12) 20   8/9 - 14   2/17

Answer: ____________

13) 10/12 - 3/8

Answer: ____________

14) 10/12 - 3/8

Answer: ____________

15) Factorise 5x2 + 7x + 2

Answer: ____________
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16) (-15) x (-46)

Answer: ____________

17) 9 x 10

Answer: ____________

18) 39 x 1000

Answer: ____________

19) 01:18 am To 07:57 am

Answer: ____________

20) 1/19 of 209

Answer: ____________

Total: ___ / 20
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Answers:

1) 0/1 2) 140 3) 12 4) $541.68 5) 4200 6) 30 7) 38

8) 50/1 9) 7349/153 10) (d + 2)(d + 5) 11) 63,81,72, 12) 6118/153 13) 11/24 14) 11/24

15) (1x + 1)(x + 2) 16) 17) 90 18) 39000 19) 06 Hours 39 Mins 20) 11
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